M:thin English Brain Teasers level 4 #25

Which option is needed to complete this pattern ?
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What is the missing letter
in this puzzle ?

What is the missing number
in this pattern ?
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(4)(1)~(2-N 6 12] 4
2-(9)-(3)F 6 [21] 2
ORORORY 418 9
(54631 6155
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Answer to brain teasers

puzzlel: A
In each row multiply the 1st square by the 2nd to get the 3rd. + times

+ equals +, - times - equals +, and + times - equals -.

puzzle 2 : 84
The sequence follows a +3, X3 pattern.

puzzle3: T
In each row, multiply the first 2 circles and divide this by the 3rd,

to get the letter value.

puzzle4 : 7
Multiply the left and right digit in each row and divide this by 2

to get the middle number.
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